o
)

o
N

< 00, > (M)

RatioI

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

107 1

100r

A o ©
o O O
[TTTTTee

20F-ee it

..........................

..........................

H
I
+
t
-

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

...........................

e
T

0.95
10

0* 1

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__mkFit-cand__RECO

1071 1

._.
I
N
t
-

1071 1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

= 100

RatioI

0.95

1071 1



	Contents
	Page 1


